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void matrix_solve (float **a, float *b, float *x, int n)
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void svdcmp(float **a, int m, int n, float w[], float **v)
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void svbksb(float **u, float w[], float **v, int m, int n, float b[], float x[])
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float determinant(float **a, int n)
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void ludcmp(float **a, int n, int *indx, float *d)

indx[1...n] is an output vector that records the row permutations affected by the partial
pivoting. d is output as 1 depending on whether the number of row interchanges was even or
odd, respectively.

void lubksb(float **a, int n, int *indx, float b[])
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float equation_solve(float x1, float x2, float y1, int num)
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float find_zero(float (*func)(float), float a, float b, float eps)
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float zbrent(float (*func)(float), float x1, float x2, float tol)
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